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TNPSC DEO MAIN EXAM – 2023 
Mandatory test X 

MODERN INDIA  & APTITUDE AND MENTAL ABILITY - II  
 

Total Marks: 300              Time: 3 hrs 
 

Section A 
15 x 10 = 150 

Answer the following in 150 words each 
 

1. Write a note on the Multidimensional Legacy of Tagore  
jh$hpd; gd;Kf MSik Fwpj;J Fwpg;G tiuf 

 
2. List out the significance and achievements of Swaraj Party.  

Rauh[;a fl;rpapd; Kf;fpaj;Jtk; kw;Wk; rhjidfis gl;baypLf 
 

3. Evaluate the role of Indian National Army in India’s Freedom Struggle.  
,e;jpa tpLjiy Nghuhl;lj;jpy; ,e;jpa Njrpa ,uhZtj;jpd; gq;fspg;G ahJ? 

 
4. Why Annie Besant named her movement as ‘Home Rule’? And list out its 

Achievements.  
md;dpngrd;l; mtuJ ,af;fj;jpw;F jd;dhl;rp ,af;fk; vd ngah; itj;jJ Vd;? 
,t;tpaf;fj;jpd; rhjidfs; ahJ? 

 
5. Describe the activities of the Extremists abroad, to attain India’s freedom.  

,e;jpa tpLjiyf;fhf> may;ehLfspy; tho;e;j jPtputhjpfspd; gq;fspg;igg; gw;wp tpthp 
 

6. Examine the main provisions of Lucknow Pact of 1916.  
1916y; yf;Ndhtpy; Vw;gl;l cld;ghl;bd; Kf;fpa $Wfis Ma;T nra;f. 

 
7. Write a short on the following 

gpd;tUk; tpdhf;fSf;F rpWFwpg;G jUf 
 
a. Cripps Mission Plan 

fphpg;]; J}Jf;FO mwpf;if 
 

b. Cabinet Mission Plan 
fhgpndl; FO mwpf;if 

 
8. Write a note on Royal Naval Mutiny               

Njrpa fg;gw;gil fyfk; gw;wp Fwpg;G tiuf 
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9. Describe the revolutionary activities in India in the early part of the twentieth century? 
,Ugjhk; E}w;whz;bd; njhlf;fj;jpy; ,e;jpahtpy; eilngw;w Gul;rpfu nray;ghLfis 
tpthp? 

 
10. Discuss the contribution of Newspapers and Journals towards India’s Independence. 

,e;jpahtpd; Rje;jpuj;jpy; nra;jpj; jhs;fs; kw;Wk; gj;jphpf;iffspd; gq;fspg;G gw;wp 
tpthp. 

 
11. What are the salient features of Nehru Report? 

NeU mwpf;ifapd; rpwg;gk;rq;fs; ahit? 
 
12. Write a short note on Komagata Maru Incident  

Nfhkfl;l khU rk;gtk; Fwpj;J Fwpg;G tiuf 
 
13. Answer the following questions 

gpd;tUtdtw;wpw;F tpilasp 
 
a. If the numerator of a fraction be increased by 15% and its denominator be 

diminished by 8%, the value of the fraction is 
15

16
 Find the original fraction. 

xU gpd;dj;jpd;  njhFjpia 15% mjpfupj;J> mjd; gFjpia 8% Fiwj;jhy;> 

gpd;dj;jpd; kjpg;G 
15

16  
vdpy;> mry; gpd;dj;ijf; fhz;f. 

 
b. After spending Rupees sixty thousand for remodelling a house, Amla sold a house 

at a profit of 20%. If the selling price was Rupees forty two lakhs, how much did she 
spend to buy the house?      
mkyh xU tPl;bid thq;fp mjd; fl;ll mikg;gpid khw;w &.60>000 nryT 
nra;jhh;. gpd;dh; mt;tPl;il 20% ,yhgj;jpy; tpw;whh;. mjd; tpw;gid tpiy 
&.42>00>000 vdpy; mt;tPl;il thq;Ftjw;F mth; nra;j nryT ahJ? 

 
14. The population of a town is increasing at the rate of 6% p.a. It was 238765 in the year 

2018. Find the population in the year 2016 and 2020 
xU efuj;jpd; kf;fs;njhif Mz;lf;F 6% mjpfhpf;fpwJ. 2018Mk; Mz;L 
kf;fs;njhif 238765 Mf ,Ue;jJ vdpy;> 2016 kw;Wk; 2020Mk; Mz;Lfspy; 
kf;fs;njhifiaf; fhz;f 

 
15. Answer the following 

gpd;tUtdtw;wpw;F tpilasp 
 
a. Find the simple interest and the amount due on Rs.6,750 for 219 days at 10 % per 

annum. 
&.6>750f;F 219 ehl;fSf;F 10% tl;b tPjk; jdptl;biaAk; njhifiaAk; fhz;f 

 
b. Find the rate of interest if the difference between C.I and S.I on ₹8000 compounded 

annually for 2 years is ₹20. 
&.8000,f;F 2 Mz;LfSf;F fpilj;j jdptl;bf;Fk; $l;Ltl;bf;Fk; ,ilNaAs;s 
tpj;jpahrk; &.20 vdpy;> tl;b tPjj;ijf; fhz;f 
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SECTION B 
10 x 15 = 150 

Answer the following in 250 words each 
 
16. Analyse the differences between Moderates and Extremists of the Indian National 

Congress.  
,e;jpa Njrpaf; fhq;fpurpy; kpjthjpfSf;Fk;> jPtputhjpfSf;FKs;s NtWghLfis 
gFg;gha;f 

 
17. Discuss the origin and the growth of communalism in British India.  

Mq;fpy ,e;jpahtpy; tFg;Gthjj;jpd; Njhw;wk; kw;Wk; mjd; tsh;r;rp Fwpj;J tpthjp 
 
18. Jawaharlal Nehru is the Architect of Modern India – Discuss  

,e;jpahtpd; etAf rpw;gp [t`h;yhy; NeU – tpthjp 
 
19. Discuss the development of education in British India  

Mq;fpNyah; Ml;rpapy; fy;tp tsh;r;rp Fwpj;J tpthjp 
 
20. Bring out the significance of Round Table Conferences.  

tl;l Nkir khehLfspd; rpwg;gk;rq;fis ntspf;nfhzh;f. 
 
21. Describe the part played by Mahatma Gandhi in the freedom movement of India.  

,e;jpa Rje;jpug; Nghuhl;lj;jpy; kfhj;kh fhe;jp Mw;wpag; gq;fpid tpthp 
 

22. Critically examine the achievements of the ‘Boycott and Swadeshi Movement’ launched 
to win India’s freedom  
RNjrp ,af;fk; kw;Wk; Gwf;fzpg;G nfhs;ifapd; rhjidfs; ,e;jpa Rje;jpuj;jpw;F 
toptif nra;jJ – ep&gp 

 
23. Narrate the role played by women in the Indian National Movement  

,e;jpa Rje;jpu Nghuhl;lj;jpy; kfsphpd; gq;F ahJ? 
 
24. Answer the following questions 

gpd;tUtdtw;wpw;F tpilasp 
 
a. On selling a T.V. at 5% gain and a fridge at 10% gain, a shopkeeper gains Rs. 2000. 

But if he sells the T.V. at 10% gain and the fridge at 5% loss, he gains Rs. 1500 on the 
transaction. Find the actual Price of T.V. and the fridge. (9m) 
xU njhiyf;fhl;rp ngl;bia 5% ,yhgj;jpw;Fk;> xU Fsph;rhjdg; ngl;bia 10% 
,yhgj;jpw;Fk; tpw;gjhy; filf;fhuUf;F epfu ,yhgk; &.2000 fpilf;fpwJ. Mdhy; 
mth; xU njhiyf;fhl;rpg; ngl;bia 10% ,yhgj;jpw;Fk;> xU Fsph;rhjdg; ngl;bia 
5% e~;lj;jpw;Fk; tpw;gjhy; mthpd; epfu ,yhgk; &.1500 fpilf;fpwJ vdpy;> 
njhiyf;fhl;rpg; ngl;b kw;Wk; Fsph;rhjdg; ngl;bapd; rhpahd tpiyfisf; fhz;f. 

 

b. Roja earned ₹ 18,000 per month. She utilized her salary in the ratio 2:1:3 for 
education, savings and other expenses respectively. Express her usage of income in 
percentage. (6m) 
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Nuh[h khjk; ₹ 18>000 rk;ghjpj;jhu;. mtu; jdJ rk;gsj;ij KiwNa fy;tp> Nrkpg;G 
kw;Wk; ,ju nryTfSf;F 2:1:3 vd;w tpfpjj;jpy; gad;gLj;jpdhu; vdpy;> 
tUkhdj;ijg; gad;gLj;Jtij rjtPjj;jpy; fhz;f. 

 

25. Answer the following 
gpd;tUtdtw;wpw;F tpilasp 
 
a. Arif took a loan of Rs.80,000 from a bank. If the rate of interest is 10% p. a., find the 

difference in amounts he would be paying after 1½ years if the interest is (i) 
compounded annually and (ii) compounded half – yearly. 
mhPg; vd;gth; xU tq;fpapy; &.80>000 fld; thq;fpdhh;. Mz;L xd;Wf;F 10% tl;b 
tPjk; 1 ½ Mz;Lfspy; (i) Mz;nlhd;Wf;F tl;b Nrh;f;Fk; Kiwapy; (ii) 
miuahz;bw;F xUKiw tl;b Nrh;f;Fk; Kiwapy; fzf;fplg;gl;lhy; njhiffspy; 
tpj;jpahrk; fhzTk;. 

 
b. Kumar borrowed some money at the rate of 6% p.a. for the first two years, at the 

rate of 9% p.a. for the reset 3 years and at the rate of 14% p.a. for the period beyond 
five years. If he pays of total interest of Rs. 11,400 at the end of 9 years, how much 
money did he borrow. 
Fkhh; vd;gth; xU njhifia Kjy; ,uz;L tUlq;fSf;F 6% Mz;L tl;bapYk;> 
mLj;j 3 tUlq;fSf;F 9% Mz;L tl;bapYk;> 5 tUlk; Nky; cs;s fhyq;fSf;F 

14% Mz;L tl;bapYk; fldha; ngWfpd;whh;. mth; 9 tUlq;fs; ,Wjpapy; &.11>400-I 
nkhj;j tl;bj;njhifahf nrYj;Jfpd;whh;. mth; fldha; ngw;w njhifia fhz;f. 
 
 
 
 
 
 
 
 

 


